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Practice exercise 3
Read the following data on tourism in the UK and answer the questions that folloﬁ.

Domestic tourism in the UK: UK tourists visiting UK sites

V Table 8.3 Visitors to coffee shops: main f

actors influencing choi |
based on 95 per cent confidence levels O

| % of respondents Confidence

Confidence
interval (25,000 | intervalif 2,500
people surveyed) | people surveyed

Location 45 ' £0.62 i +1.95
Quality 31 B +1.81
Atmosphere 21 +0.50 i +1.67 -
Price / loyalty card 3 +0.21 +0.67
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V Table 8.4 Data on UK tourism visits by UK residents,
2006-2013

Column 1: Year Column 2: GDP | Column 3: Domestic

(Index number) | holiday visits (millions)
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Practice exercise 3
Read the following data on tourism in the UK and answer the questions that follow.
Domestic tourism in the UK: UK tourists visiting UK sites
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V Table 8.4 Data on UK tourism visits by UK residents,
20062013

Column 1: Year

Column 3: Domestic
holiday visits (millions)

Column 2: GDP
(Index number)
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certain that more than 30 per cent of coffee shop users believe that quality is the most important
factor. % -
4 Explain how a coffee shop might use the data in Table 8.3 to increase its market share. (6 Markg
5 Identify two factors that would reduce the confidence interval (margin of error) piBSieE @ nary

6 Select one of the factors you have chosen in question 5 and explain why that factor would
reduce the confidence interval. (4 markg |

7 Study Table 8.4. Based on the data in columns 1 and 3, use extrapolation to calculate the v
annual increase in domestic holiday visits in the UK. Show your working. (3 marks) “

8 Use your answer in question 7 to forecast the level of domestic holiday visits in the UK for: ‘
a) 2014 2 marky |
b) 2017 (2 marks

9 Use your answer in question 7 to answer the following question: In which year are domestic
holiday visits in the UK expected to exceed 49.0 million? Show your working. (4 marks)

10 Using Figure 8.7, use extrapolation to forecast the level of domestic holiday visits in the UK for:
al 2014 .
b) 2017

11 Use Figure 8.7 to answer the following question: In which
UK expected to exceed 50.0 million? Explain your answer.

12 Examine Figure 8.8,
al Does it show positive or negative correlation?
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